1. Gx+dh)?=a+bxy+cy* €W, A5Fa,b,cFat+b+c

29

D 11 @ 19 ® 25 @ 31 @49

(3x)%2+2x3xx4y+ (4y)? = 9x% +24xy+16y* °| B2 a+b+c =
9+ 24+ 16 =49 o[t}




(5x = 2y)? = ANSHA ax? + bxy + cy? ek, ol A= a, b, ¢ 9
Sa+b+cY F2?

@ -2 @ 2 ® 5 @9 ® 13

(5x)2=2x5xx2y+(=2y)? = 25x%—20xy+4y? °|B2 a+b+c =
25+ (-20)+4=9




3. (x+2y)(x—2y) & Z75HAH?

O x-4y @ x? -2y? @ 2x% - 4y?

‘@’xQ _ 4y2 @ x2 _|_4y2

X2 = (29) = 5% - 4?
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@ (a®-3a+2)m? ((@(a2 + 3a + 2)m?
® (a®> +2a+1)m? @ (a® - 4a+ 4)m?

® (a®+ 6a + 9)m?

Loyt sjeke] 7429] o] (a+1)m , A22] 4ol (a+2)m
wabA sfeke] Hol (a+ 1)(a+2) =@ + 3a+2 o]t




5.

ohg DA A 2R Hol g x, y o]
et Ao 2 vp2 A el 2129

@ (2x+2y)(3x +y) = 6x2 + 8xy + 2y2

@ (2x-2y)(3x +y) = 6x% — 4xy - 2y
@(2x +2y)(3x —y) = 6x° + dxy - 2y°
@ (3x+2y)(2x-y) = 622 + xy = 2

® (3x—2y)(2x +y) = 6x2 — xy — 2y?

_--2X--__ 2y

~&B

At B10] 7129 dol= (2x + 2y),
A=) dol= (3x—y) °Ith

weba] AR BE O] Wol=

(2x + 2y)(3x —y) = 61 + 4xy —




6. (2x+1)(5x+A)=10x>+Bx-2 < W, A+ B 9] 312?

@ -10 @ -5 @—1 @ 1 ® 5

(2x + 1)(5x + A) = 10x> + Bx — 294 Ax 1 = -2, TetA
A=-2,B=2A+5=10°]t},
L A+B=-1
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@ 3x%+3xy+y> @ 3x2+6xy+y> @ 9x% +3xy +)?

(@)9x2 +6xy+y2 ® 9x2 4+ 9xy + 2

(Bx+y)? = (3x)2 +2x3x Xy + y?
= 9x% + 6xy + y?




10. (-4x-5)? & Z/HsHH?

D -8x%2-20x-25
® 1642 + 20x + 25

® 20x2 4+ 10x+5

@ —-8x%2-40x-25
@)1652 + 40x + 25

(=4x)% + 2 x (—4x) X

(=5) + (-5)2 = 1622 + 40x + 25




11. 2x-5°4+a=42+bx+21 D W, a+b 9 32?7 (Ha b=
golt)

@-2 ©-1 03 @ 8 ® 19

B ~
(2x)2 —=2x2x x5+ 5% +a=4x? —20x + 25+ a C|B=
25+a=21
a=-4, b=-20
La+b=-24
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@ (3a+5)(3a-5)

—x2 42

® (—=x-y)(x-y)

‘ ® (-4 +x)(-4-x) = 16 — x*



13. (x+3y)(x-3y) & A7istA?

® x-3y @ x? - 3y? ((@)62—9)12

@ x2+9y? ® 2x2 - 9y?

x2 = (3y)% = x2 - 9y?




14. 923 (-x-y)?2 422 g2 A

flo

o= g2m9

® (x+y)? @ (y+x)? @_(x+y)2
® 22y @f--n)

(—x=)? = 2% + 2xy +
@ —(x+y)? = —(* + 2xy +y%) = —x* - 2xy - y°

® {-(x-»}" = (-x+y)? =22 - 22y +?







16. (5x—6)(4x + 3) & ATt A2

D 20x% +2x-18 @ 20x® +4x-18

® 20x% +6x—18 @ 20x% -9x+ 18

@20)62 -9x-18

(5x—6)(4x+3) = (5><4)x2+{5><3+ (=6) x 4}x + (—=6) x 3 =
20x% —9x — 18




17. (x+3)(x=2) + (x=3)(x+5) & 7IH3d] 5tA?

D x2+3x-21 @ x2+6x-15 ® 2x2+3x-15

(@)2x2+3x—21 ® 2x24+6x-6

(x+3)(x—2)+ (x-3)(x+5)
=x24+x-6+x2+2x-15
=2x%+3x-21




18. (x+a)(x-5)=x>+bx+15 & W, a, b &] 327

@® a=-8, b=-8 @ a=-8, b=-5
(@)az—S,bz—S @ a=3,b=5
® a=3,b=-5

(x+a)(x=5)=x2+ (a-5)x—5a=x*+bx+ 15
2t a-5=b, —5a=159|B2 g=-3, b = -8 o|t}.
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20. (Bx+2y)(2x—y) = (x—2y)(4x+ 3y) & AHNTF AoZ g2 A7

rlo

D 2x? + 18xy — 4y? @ 2x2 + 6xy — 4y?
@ 2x2 + 12xy + 4y? @ 10x2% — 4xy — 4y?
(@)2x2 + 6xy + 4y?

~&B ~

(3x +2y)(2x —y) = 6x% + xy — 2y?

(x = 2y)(4x + 3y) = 4x2 — 5xy — 6y? ©|T}.

whabA] 2017 AL 6x2 + xy — 2y? — (4x? — Bxy — 6y?) = 2x2% +
6xy + 4y? o]t}




21. (2x—8)(3x+ 7)== AN 6x% - (3a + 1)x — 4b ©|t}t. ojuf, A=
a, b2l & a+b o 27

@ 13 @ 15 @17 @ 18 ® 20

B

(2x - 8)(3x + 7) = 6x% — 10x — 56
=6x2 — (3a+ 1)x — 4b ©]t},

W2t 3a+1=10, 3¢a=9, a=3,

—56 = —4b, b =14 9|2l a + b = 17 ©|t}.




22. (-5x+2y) (%x— 3y) = ax’+bxy+cy> Q W, A a, b, ¢ ol s}t

a+b+c 9 7e?

11 13 15
®5 @ ®2 @7 @

1 5
(=5x + 2y) (ix - 3y> = —§x2 + 16xy — 6y?
= ax® + bxy + cy? °|B &,

az—g, b =16, c = -6 °|t}.

webA] a+ b+ o= 22 ole,




